[ 4
Q) ZsAy

A|7H[O[21 £

2| Z11 oSstMI




0wy

Z|7HHol2{A
A0t SIBEILR?

2, U2l SO S40| B SN
3~7ULELI= 202018

LI 2|2 Q0| BIBEILICH, il

CHek, 2| 2l d0r AFSe| Herdo] A|7|=| 11 U0 4
02 &l =7t Ol AV [ A= A5t UG

H2H: 2016.1.29



0 225
01%7“ ?:I-oé El Ll‘_.?_‘)

27O |2 Ao 2iisl @70 224 ARol|H
A1

TS|, Af2I7H] QAo HAO 2 Zi0ic|R)
Or=L|C}

e
E.l'DI- PA- Lo DN =3 QDHG AEEI:.IZI-;H Ll', JI:
Ztoig| Al2tato| M 222 E5(M
iy Zlnm.gm 57 0@
GI.A.Lll:I_ ; .

A&l 2016.1.29



0wy

2|7 10| 2{ A0f

Zeisl T olRe] @
Ny yao=

Efiofe| £EZ0)

ot 4 lLte?

A|7H0[A0 ZF el 2= Yaleh 050
25730| U= Of0|= Sihol= A2 OFgL L.

@ =siyyuzsssyAz s

@3 GIS B2 2247} LRSI 20|
22I1S0| YLt

H2H: 2016.1.29



oid A4

A7H0] A F 7= 27171
Fe|Lietoll e ALEL?

(|7 1EH0| 228 D7 HEhe 222 )>
A7HPO|HAS F2 H7|= 0IRERR|=
Fe|Lietof] SS LT,

S2|Li2lofl MAlSHs 2427|821 4 Yo
2UY 7|0l 2|7 fHt0[2{ A7} SISl 2 QLT

—

A2l 2016,1.29



»

& 28y 0wy

A|7HH[O[H A EBS ?.;HP t
“a“.;ﬂj Ltek= 01EI 12

e
e ‘,,1 e T
- r:

AT
-\‘1
=l
(22}

'..

" 5

A
F

R,
e
W
g e
a
Foimdar

SEEEnEeED0 SR B

AYAUZ|EE S|0| 2| (www.cdc.go kr) 2} ol 2|0 312 2 E MIES

(travelinfo.cdc.go kr)OllA] 2|12 271 O|L 22l =7 = SRl 4~

UELICE 2016.1.28Y 7|2 B[ 27 = Cr2ap ZH-LCt
20| (2271=), EFEY A (AF20}), OFA|OHENR), OFL2 7 HF HEH| =)

H2H: 2016.1.29




& 28y 0wy

A|7HHL0| A LA 2712
Ej oj3e Tt Ete?

v ©®

QIAISH O 2|2 271 O|Lf
27} gAst 27| ofS @
17|38 242 MDD UBLICE

=7 oA ' E=7= 0{aliOf of= =
Of 210]| 2|t} &FEolA| 7| HIELICY.

A2 2016.1.29



& 28y 0wy

A|7tH10]|2]{£0)| ZBxH
28 20|k S0
LIEHE 4= QACHAL SHET|?

o AF20] OFELCY,
omre &F K

2-7%, IEHZ
ol Ueiioz 27 05_1 AZ10] 2]+ S0jj=

A2 2016.1.29



A7 o[£ Bl =7 +S CHARE=G,

A2 BES A 0JLLO?

= =21 A

X
CA|7 012 A0 2ff Eotd 72 Y2 CA|7 o2 A0 22t 220

Z40| QICIR! ZIEHIAIS S LRI GICHs 20| HEI SO
ofRIL|Ct

Ojd = 25 O|Lijof] =B, B, BES, = 58 5 24350
LIEIL= 390l= 2| &7 [ 2H0f|M 2 =S Z2A|7] BIELICE

A& 2016.1.29




& 28y 0wy

Z|7HH10|2A S O A
2| 2A|L}HAI0| YULER?

B AL o a1

.y
oLf, $E3 FAD 48

M3|2 oy si=EU (Ip(-

S0 A5E|E o|=7|20f|M =S
2 2A|7| BIELCY.

H2H: 2016.1.29



G, o
co HeHey

2|7 1H10|2{A T} O] Al |
0{C|2 A1 nZ 3o} 5HLR?

2|7HHt0[2A 4O 2 o|40| &= L,

28| =5 SAE(ZHH B0 109)Lt
743:2|2 E2AA0| ADBH0] FA|7| BRILICE

A2 2016.1.29



